= AH O
N = 0 &8 AF S & Al A
20ME T 20a LEtg|H StFES ~ SHFES
2M: SHESH
Hz: IjopEd 25
Sl ety BX Al (oA
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES Ol &F2H @;OH Hns
SABS 12,749,506 11,649,710 1,099,796
= 3,499,700
o= 765,568
Al 8,484,238
NoAss 85 348,560 377,980 N29,420
= 25,700
< 70,768
Al 252,092
oistd 28 2e| 236,780 242,700 25,920
< 66,668
Al 170,112
MEN X EH 50,000 50,000 0
= 50,000
101 o124 4| 36,000 36,000 0
< 36,000
04 JIZtHIZ2SE S 36,000 36,000 0
OMEIZAZEXA2ZA 22X B 35,000
< 35,000
OMEfZ2ABAEI T 2ZAIH M= 1,000
< 1,000
201 LBt AH| 6,000 6,000 0
< 6,000
01 AF222|H] 5,400 6,000 A600
OME|Z2ABAX S 22| 2| 5,400
< 5,400
02 22249H4| 600 0 600
OF2=sM Z2A=Aa JIIRS
50,0002 = 12J0€ 600
= 600
301 LEtEAS 6,000 6,000 0
< 6,000
10 SALAIHI B A2 6,000 6,000 0
OMENZE2ENMXY 2LIH 23 =Y 6,000
< 6,000
401 Al&H| L2 HYI 2,000 2,000 0
< 2,000
01 Al&H] 2,000 2,000 0
OXHSHEA OIZAIES &X 2,000
< 2,000
MEHFAZBHER A A 4,500 5,000 A500
202 OiH| 4,500 5,000 A500
01 2| 4,500 5,000 A500
OME|Z2ASB M A 2AIEHS 4,500




SN B#ASSD
Hm: Jjoisy 25
Sl MoEY B G
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
URASALANY 2 95,560 100,000 A4,440
= 16,668
Al 78,892
101 o121l 95,560 100,000 A4,440
= 16,668
Al 78,802
04 JIAH2EZXHESS 95,560 100,000 A4,440
OLRBAZAIL 221 24 92,560
= 15,768
Al 76,792
OLAHAZAIN DT L H= 3,000
= 900
Al 2,100
Kot MENH e 9,504 9,504 0
201 Yer2 Y| 9,200 9,200 0
01 AR eIt 9,200 9,200 0
ORSMENN HE L HASR5] 2ALE
10,0008 * 28§ * 103 2,000
OMEN St A2
60,0002 * 28§ * 102 * 62 7,200
301 LB B A 304 304 0
10 BAHAEI B4 S 304 304 0
OBADNS M2UA ZH0IY|
75,8009 * 2% * 22 « 13 304
B2 2 NP9 2 A 1,910 1,910 0
201 Yoyl 1,000 1,000 0
03 EAI2 Y| 1,000 1,000 0
O o N7 & J=SA 1,000
301 LPBAI 910 910 0
10 BAAEI B4 S 910 910 0
OO & JIGSA EHA0HH]
75,8009 * 6% * 22 + 13 910
BACH 54 75,306 76,286 980
202 04t 2,000 2,000 0
01 =2Uloibl 2,000 2,000 0
OXNYAR YPE 2,000
301 LB AI 5,306 6,286 £.980
10 BAAEI 24 S 5,306 6,286 980
QA2 5250 A0
75,8002 * 10 * 22 + 13 1,516
O MRS FA ol
75,8002 * 10 * 32 « 13 2,274




SN BY25D
Hu: By 25
ool XtetEd e (Etel: &8
SA B RI(BH) - HRAY - BAS 0f - o e bl m =2
OXeE SN 59 &40l
75,8002 * 10% * 12 * 23] 1,516
307 BI2t0IA 68,000 68,000 0
03 AFSISHRIE X3 58,000 58,000 0
OFA - BFEO0F ANSSHEES 58,000
04 QIS AR Z 10,000 10,000 0
OAINE 30FHIIE Rgl=diel 2a#A N 10,000
OHMSAS TR 69,280 69,280 0
= 15,700
= 4,100
Al 49,480
TE OFMSE 25 - ol 13,213 14,213 A 1,000
201 ety 6,413 6,413 0
02 2Z2H| 6,413 6,413 0
OZZ22 2 MA 1,100
CEAMHRL S 50,0008 * 23| 100
oNEXEEE 1,000,0008 * 13| 1,000
Oxt 2 5,313
oR 20 1,428% « 804 + 33| » 122 4,113
oxtgR X 2e 100,008 * 128 1,200
202 01t 3,000 4,000 A 1,000
01 2U0iH| 3,000 4,000 A 1,000
ONMES B5YRFX 3,000
206 T2l 2,000 2,000 0
01 MEH 2,000 2,000 0
OFZOIMES AE S 7Y 2,000
301 LptEaa 1,800 1,800 0
12 JIEH2 A3 1,800 1,800 0
OOFMZE= XIZHl 30,0008 * 100t2] * 63 1,800
OHMSAIS TIGHOI AL 41,400 41,400 0
= 15,700
Al 25,700
301 YptEAZ 10,000 10,000 0
12 JIEH2 A3 10,000 10,000 0
ORWOHMEE ISR BS4+Y 10,000
402 DIRERHEZ0IH 31,400 31,400 0
= 15,700
Al 15,700
01 SIAREEE 31,400 31,400 0
OOFMSS T A 31,400
= 15,700




fA EESH
& osEd B
o9l OMEA SRR cro @ el
I:I}\_I X ZH C|—O|(:|j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ =2}
| A 15,700
OHMsa=E B3 14,667 13,667 1,000
& 4,100
Al 10,567
301 EtEA = 1,000 0 1,000
12 JIEtE243 1,000 0 1,000
ozg 2 1,000
302 Ol=Z TH7ol 13,667 0 13,667
& 4,100
Al 9,567
02 2I2tRITH 13,667 0 13,667
Ot s= St s&=2 OIHEAXE 13,667
& 4,100
Al 9,567
SEI|I=He 7,500 17,000 A9,500
SHEZEIAIAE 2F 2 6,000 14,000 A8,000
201 LBt 3| 6,000 6,000 0
01 AtE222|H] 6,000 6,000 0
OSIBIAIAE(EMS) AtZ 22| & At 6,000
Bdlls 38 =& 1,500 3,000 A 1,500
202 O4dl 1,500 3,000 A 1,500
01 =LA bl 1,500 3,000 21,500
Ogdlles 28 Ol 1,500
JIZHIIHSYR 35,000 49,000 214,000
= 10,000
Al 25,000
JIZHSHE ¢ 15,000 35,000 220,000
301 LEtEAZ 15,000 15,000 0
12 JIEtE 4= 15,000 15,000 0
OErA IOl 15,000
JElAEE UE 20,000 14,000 6,000
= 10,000
Al 10,000
307 212t01& 20,000 14,000 6,000
= 10,000
Al 10,000
02 2It3aE 20,000 14,000 6,000
O AE 20,000
= 10,000
Al 10,000
MEZoi 2el 40,466 40,113 353




SN BE2E
Ha: MET e
Sl IR e (s &)
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
1= 22l 10,920 10,920 0
HIIQASE HEASE 22l 10,920 10,920 0
201 Yer2g| 6,040 6,040 0
01 AtR2elt| 4,000 4,000 0
OHANE ESS MH 500
OBARY =Y AN +48 1,500
OP=ZE 428 29 2,000
02 T2l 2,040 2,040 0
OIS FY S22 (63) 2,040
202 01t 4,880 4,880 0
01 2UhotHl 4,880 4,880 0
OBAY HEYL NTHY 4,880
HAYMY = A5 29,546 29,193 353
HAMWHRLSZ 2D Y2 28,546 27,193 1,353
101 Q1248 8,895 8,492 403
04 JIAH22RSES 8,895 8,492 403
OBAMHLLZ ALS FAE 8,895
oJl23 34,5602 * 4% * 502 6,912
oxg4Y 34,5602 * 4% * 102 1,383
o 2HAlH| 3,002 * 48 50 600
201 Yereg| 8,200 17,250 950
01 AtR2elt| 6,200 5,250 950
OBAMLRLZ DA 214
7080 * 25,000& * 23| 3,500
OBAMHLLZ 22T A2E 2
300,008 * 33l 900
OHAMLLLZ EAFY| S oYl
300,0002 * 23| 600
OBAMHLLZ +L222(HSOIH, I
I, A 8IE) 10,0008 * 123 1,200
02 T2l 2,000 12,000 0
OHAMNRLZ 23
2502 * 12,0000H * 43| 12,000
202 01t 1,451 1,451 0
01 =Ujoi | 1,451 1,451 0
OBAMELLS 21 L W4AL =X 1,451
HARHAND B4 1,000 2,000 A1,000
301 YR A2 1,000 2,000 A1,000
12 JIEtR A3 1,000 2,000 A1,000
OBARIAD P43 50,0002 * 20% 1,000
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SN BE2E
Hal: HF4E 2H
Sl SE BN (e @
_ _ pSNE e
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 Gl o B2
1A 16HR Bates 3,500 4,378 1878
201 Yer2g| 500 500 0
01 At 2ty 500 500 0
O1A 15t8 HEtes 222 M
50,0008 * 107H 500
206 2| 3,000 3,000 0
01 HEb| 3,000 3,000 0
Ol 15t8 Hates 2SI 2
50,0008 * 3% * 200H 3,000
M 29 & s AL 500 710 A210
201 Yer2g| 500 710 A210
03 A2 Y| 500 500 0
OKIA 29 & Jlg8A 500
Spe| S 2,062 3,450 A1,388
201 Yer2g| 1,000 1,000 0
01 Ar22relb| 1,000 1,000 0
Osne I 222 M 1,000
301 LB AI 1,062 2,450 A1,388
10 BAAHIE A2 1,062 2,450 A1,388
OS2l S 30 &40l
75,8008 * 7% * 22 * 18] 1,062
sEQABTH 2Y 6,635 8,105 A1,470
201 Yereg| 1,200 2,390 A1,190
01 At 2ty 1,200 2,390 A1,190
O+ZeysFMBL 2| 1,200
202 01t 5,435 5,435 0
01 2Uoibl 5,435 5,435 0
O+ R HBYR 3]0 & 2,435
OB - HEY £ JI32Y L ofgAe
5l & 4 3,000
SHBY ASF 2 9,719 8,419 1,300
201 Ygreg| 8,198 6,898 1,300
01 At22relt| 5,558 4,258 1,300
OMUBHEHRIAIL £EAA 242
8,60021 * 28074 £ 2,408
OEYRYT AAMLER 650,008 * 32 1,950
OFBIZEA SN R
1002 * 12,00000 * 1% 1,200
02 IZ2Y| 2,640 2,640 0




SN BE2E
Hal: HF4E 2H
Sl SE BN (S &)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OFSIZEA OGN 2HR
2202 * 1,0000H * 122 2,640
202 01t 1,521 1,521 0
01 2UjotHl 1,521 1,521 0
OBHDY AAE NEHA 1,521
5 MEH T AL 2,702 2,770 ~68
202 01t 1,198 1,198 0
01 =L otHl 1,198 1,198 0
OBH& ME} X Al 1,198
206 T2 bl 1,000 900 100
01 T2l 1,000 900 100
OBIEME|Z AL ZH| 7L
50,0008 * 2& * 107H 1,000
301 YR A2 504 672 168
10 SALAHI 2 A2 504 672 A 168
OStEMENRLIEIY ZAX S48
7,008 * 8% * 93] 504
LSALAT TAZNGIE MEI=R ALY 3,470 0 3,470
201 Yereg| 1,470 0 1,470
01 AtR2elt| 1,470 0 1,470
OYAX SL=AOIS| &AL
70,0002 * 7% * 33 1,470
202 01t 2,000 0 2,000
01 =L otHl 2,000 0 2,000
OMEHZ AR YR 2,000
HIIZ A2l 9,057,921 8,079,020 978,901
= 3,474,000
= 694,800
Al 4,889, 121
MEHIIS £ 2 1,291,144 1,317,768 ~26,624
SEUEZE 2= 20,674 31,228 A 10,554
101 Q1248 10,674 21,208 A 10,554
04 JARZEISES 10,674 21,208 A 10,554
OBt & Itz sAFY) 10,674
Sl 34,5602 * 8% * 302 8,295
oFgaY 34,5608 * 8 * 62 1,659
o2tAlY| 3,0008 * 8% * 30 720
201 Ygreg| 2,000 2,000 0
01 AtR2elt] 2,000 2,000 0
OREUHL2S HAZY 7Y 2,000




SN BHYBS
Mo HOI2H2
crelr MEBHIIS +H e EERED
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
203 R ET Y| 8,000 8,000 0
03 ABZEZ A @ETY| 8,000 8,000 0
SEEE-TVETERS 8,000
HAZH KX 2L 227,158 227,920 AT62
101 o121t 11,118 14,860 £3,742
04 JIZHIZNSE 11,118 14,860 A3,742
OHIIZ +18)| B84 22X 2 11,118
S 34,5602 * 508 * 52 8,640
oFE4Y 34,5602 * 508 * 12 1,728
o2l | 3,0008 * 502 * 5 750
201 Y2y 214,360 211,380 2,980
01 AFR22/H| 5,000 5,000 0
OFALED 7Y 10,0002 * 55 10074 5,000
02 ZZ2Hl 209,360 206,380 2,980
OBZ22 % HA 12,360
oHAXY ZEPHE2 6500008 + 1204 7,800
CHANY BANLRLYS
10,0008 * 1204 * 23] 2,400
oHAXY GPS BHE
15,0002 * 1204 * 128 2,160
OFAX RXIel(120H) 186,000
oHAXY RETY  100,0002 + 1,428 142,800
oHAXY SX 22
300,00081 * 1204 * 122 43,200
OAN &R 11,000
osF0Iae Il 400,000 * 544 2,000
oHAE &4 2 10,0002 + 10CH 1,000
oYEE $2l Y TA 80,0008 + 10CH 8,000
202 01 1,680 1,680 0
01 =UhotHl 1,680 1,680 0
OBAZY SN2l A2EX 1,680
HOI2 S0l ¥ AEY XS - B 3,360 3,360 0
202 0fH| 3,360 3,360 0
01 2L otHl 3,360 3,360 0
OMED| SJ184 U HIIS HEAYE &
=2 3,360
=205t 2ol 14,900 21,838 16,938
201 Y2 | 2,500 500 2,000
03 BAFE I 2,500 500 2,000
SEE NI TSN 2,500




SN BARSY
HH: B2 X
CHel: MEBIEHII2 40 22 (&
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
SSIELT 200,0002 * 5 1,000
SSIIEE= 300,0002! * 5% 1,500
301 YLerE A 7,400 8,500 A 1,100
10 AtAHIE AR 7,400 8,500 A1,100
OsA032 HMSH3 6,400
OB AL SIO&A 0fH|
200,0002! * 1% * 53] 1,000
405 XtaHE S| 5,000 12,838 N7,838
01 XAt SEF S 5,000 12,838 A7,838
OsA0182 CEx8 AR L HIZE7Y 5,000
MESE 28 zef 114,441 123,053 A8,612
201 Let2 oy 2,200 2,200 0
01 At 2,200 2,200 0
OMEBEE 7124 Ax2
300,0008! * 2& * 23 1,200
ONMEE HARH 2
10,0008 * 55 * 2074 1,000
202 01 841 841 0
01 2UHoit 841 841 0
ONMEEE A2x7 841
206 T2 H| 10,000 10,000 0
01 Mzl 10,000 10,000 0
OMEEE {0t 21,0002 * 10,00004 10,000
301 YerR Az 101,400 110,012 18,612
12 D2 A2 101,400 110,012 N8,612
OMEEES +243
45,0008 * 130€ * 128 70,200
ONMEEE +H=e2
20,0002! * 130€ * 12 31,200
sAa2zHDIE 22 15,464 15,950 1486
201 Let2 oy 3,000 2,000 1,000
01 At 3,000 2,000 1,000
OSASEHIIZ E22 HME 3,000
202 01l 2,520 2,520 0
01 2Uoit 2,520 2,520 0
OSAIZEHIIS 2 LS 2,520
206 i 2| 8,000 8,000 0
01 Mzl 8,000 8,000 0
OSASEHIIZ AFMAHE LHA 7Y
4,0002! * 2,00004 8,000




SN
X XH .
S Tt

el

- = — N e —

SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il i~ o B2
307 2I2+0IH 1,944 2,430 486
05 PIZteIEr2 1,944 2,430 ~486

OSAZRHIISHIANAL ST 22
16,200,0008 * 12/100 1,944

MYD| BYH 2 106,220 113,566 AT,346
201 Yer2g| 2,400 2,400 0
01 AtR2elt| 2,400 2,400 0

oM ZZH =& 2,400
206 T2 83,020 91,166 A8, 146
01 HEH| 83,020 91,166 A8, 146

OZZH 25 2 SASE HIIZ B M= 83,020

CUHE(HIIC Ta) 75,650

10 362 * 100,000 3,600

204 572  450,000% 25,650

~50 ¢ 12120 * 200,000% 24,200

~100 ¢ 22220 * 100,000% 22,200

o=38(HRE X&) 4,640

~50 ¢ 1218 * 20,000% 2,420

~100 ¢ 2202 10,000 2,220

SSMERHIIZ +NHS(LRES) 2,730

31 1920 * 40,000 760

51 1920 30,000 570

204 352 * 10,000% 350

-60 £ 352 * 10,000% 350

120 4 352 * 20,000% 700
307 212+0IH 20,800 20,000 800
05 PIZteIES 20,800 20,000 800

OZYHEE B2 H@++2

520,000,0002! * 4/100 20,800

HOIZ +&28 42 Hg2d 622,561 615, 107 7,454
307 212+0IH 622,561 615,107 7,454
05 PI2telIEr2 622,561 615,107 7,454

OMEHIIZ £ - 28 242 HIBSH

51,0008 * 18.3E * 3082 287,457
OSASRHIIS 48 2 +42 HIELH

80,0008 * 13.65 * 3082 335,104

SXIHIIS Hel 20,216 20,216 0
401 Al&HIL 20| 20,216 20,216 0
01 Al&| 20,000 20,000 0

OB SXIHIIS Hal(14) 20,000




S SRS
Z: Hol2He

e MEHIIZE =H 22l (el &)
SN I SRI(S) - NRAY - B sk S 2t
0f 4 o8
03 AIZ R0l 216 216 0
o2t ZXHIIZS Mel SUbl
20,000,000& = 1.08/100 216
FAEH =5 139,500 140,080 A 580
206 M=l 39,500 40,080 A580
01 M=H| 39,500 40,080 A 580
OHEM AsaxtEI] 8 300,0008 * 5004 15,000
OSA=SFHIIZE =HEI 7Y 11,800
=204 13,000& =+ 10094 1,300
<60 £ 30,0003 * 15004 4,500
=120 ¢ 40,0002 * 1504 6,000
OSENEE =18 2 500,000& = 1504 7,500
oHgZs =Hg +¢ 400,000& * 104 4,000
OHgZs 2= 7 40,0003 * 304 1,200
405 KHAHFESHI 100,000 100,000 0
01 HARESFSH 100,000 100,000 0
(OF=EpNI= Sl 95,000,000 * 1CH 95,000
OYES ¢ 5,000,000& = 1CH 5,000
SHJI= 22 6,650 5,450 1,200
201 Let2IH| 3,800 2,600 1,200
01 AtE22/Hl 1,400 1,400 0
OUEHII= POA EXI HZE 2008 * 2,000 400
OUEHII= &0 X =HMANE EE= [
= 1,000
02 =234l 2,400 1,200 1,200
OPDA & GPS Stz 200,000& = 12& 2,400
307 G12t0lH 2,850 2,850 0
05 QI2t9iera 2,850 2,850 0
OUEHIIS22IANAE KX 2tel
19,000,000& = 15/100 2,850
HIIZ2 MelAlg S2F 2t 7,766,777 6,761,252 1,005,525
= 3,474,000
o= 694,800
Al 3,597,977
28 dEZANd 29 50,713 29,106 21,607
101 el 24| 20,013 19,106 907
04 JIZLMIZ2XEE =+ 20,013 19,106 907
OoMgs 84g8xgy 22X B+ 20,013
=Jl=2g 34,5603 * 3¥ + 150 15,5852
oFsd 34,560& = 38 * 30 3,111
o 2+HANY] 3,000& » 3% » 150 1,350




FA B2
M HoI=EH

&2 HOIZ2 MelAld 2Z2el (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 LetEdH| 5,000 5,000 0
02 2223l 5,000 5,000 0
ONgE dEF FHl R 5,000
206 M= dl 5,700 5,000 700
01 M=l 5,700 5,000 700
ON&E Mol ExME 2¢ 5,700
oAFH FY 1,500,000& = 1& * 33l 4,500
oF=d A 6,000& * 2000H 1,200
401 Al&HI LS OHYI 20,000 0 20,000
01 Al&H| 20,000 0 20,000
ONMgESE g=I| = 20,000
W& 2el 302,574 343,042 240,468
101 Q14| 20,013 19,106 907
04 JIZtHIZ22HEsE2+ 20,013 19,106 907
OEE SBLANE 22X B 20,013
=JlE2s 34,5603 * 3F = 150 15,552
oFsd 34,560& * 3% * 30¢ 3,11
o 2+HAH] 3,000& » 3% » 150 1,350
201 LetIH] 196,335 187,710 8,625
01 AtR22/Hl 16,130 17,030 A 900
Oget=gH| 13,880
ocHIIE HESEAM MA 1102 * 20,00004 2,200
SRR HES 2TUAN 4222
300,000& * 163l 4,800
oHEH KXot =2FAr=2 6,880
- M H 430,000 = 43| 1,720
- ASHEHE 430,000& * 123l 5,160
ONTE=1:] 1,200
oMAS 100,000& * 6 = 23l 1,200
Odxt= 1,050
oc=ZRY HREAMEZ 350,000& * 3Z X 1,050
02 =234l 180,205 170,680 9,525
Oz332= & HAl 80,340
ocMIIR3 63,600
-NEHEE 1,100,000& * 12& 13,200
-AMNEE 4,200,000& = 123 50,400
cItARSF 40,000 » 128 480
ocdesEsdlE 30,000& * 12& 360
ciol+=ER3 900,000& = 12& 10,800
cEIMHRES 1,500




D EEESH
S HIIEA
D HJIE MelAld 232

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
BN B O - HSAY - B2 Sh Of] &F o8 e
N 150,000& = 50H * 23] 1,500
oAtsXEEZ 600,000& = 6CH 3,600
oz 18,225
oMRUR Ues Do
900& * 2CH = 304 » 150 8,100
oYy LYR 29
900& * 10 = 754 = 150 10,125
OAl& &8l = X 8l 21,640
oI, JIHAH KA 10,000
cHERY 3,000
S -EES EIPNPERVET-PN
203 * 36,0004 * 12& 8,640
OXt | 60,000
202 044l 5,126 5,126 0
01 =ZLHO b 5,126 5,126 0
ORIMIHEE 2= 5,126
206 i ZH 9,700 9,700 0
01 M=zl 9,700 9,700 0
O&E=+ HMelAd 4271 8,500
o EHAMEHE 1,000& * 1,000kg 1,000
oIt A C 1,000& * 1,000kg 1,000
SESESH| 15,000& * 300kg 4,500
ogtHorE 2,000& * 1,000kg 2,000
ON4ds d32Es 7+ 6,000 * 200X 1,200
307 2I2t0| ™ 7,800 7,800 0
05 BIZtRIE= 7,800 7,800 0
O&JI|ortd A& 650,000& = 12& 7,800
401 AEHIZ 2] 63,600 23,600 40,000
01 Al&HI 60,000 20,000 40,000
OFEXH2IANE ®I| L JIHEH FH| 50,000
OmDIZH™2lAld =H0tE2 SZ &Y 10,000
03 AlE=0HYI 3,600 3,600 0
ORIMIHEE =EM 28 I dXts 3,600
HOISMel (A2)Ald HE 5,952,310 6,137,984 A 185,674
= 3,174,000
= 634,800
Al 2,143,510
201 LBtEIH| 2,310 10,000 AT,690
01 At=2teltl 2,310 0 2,310
OFDUXNEAM A& 2&EFA=L
70,000& * 119 = 33| 2,310
202 04t 2,000 2,000 0




FA B2
M HoI=EH

Sol: HIIZ MelAa 2g3e EE-ED
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 2o 2,000 2,000 0
OHIISH2ANE HXYLFEA 2,000
401 AlEHIL 2O 100,000 0 100,000
01 A& 100,000 0 100,000
OAZAE AS 8348 S ZTA 100,000
403 XX SHSKHZ0IH 5,848,000 6,116,000 268,000
= 3,174,000
= 634,800
Al 2,039,200
02 BJI2HS Ol CH S0 3 AL 23 Ul 5,848,000 6,116,000 268,000
OMEHIIS A2AL &X A 5,848,000
= 3,174,000
3 634,800
Al 2,039,200
WAL IS 22 A 302, 160 100,900 201,260
401 Al HIL2OHY] 302, 160 100,900 201,260
01 A& 300,000 100,000 200,000
OSIMMHE S SHE SHY SXBA(14) 300,000
03 Al& 20| 2,160 900 1,260
OSIMINYE SIg SHY SXSA S0l
300,000,0008 = 0.72/100 2,160
SAZRHIIZ N3 91,020 60,220 30,800
201 Lere gl 18.800 18,000 800
01 AFR22/H| 3,000 3,000 0
OSAZSRHIIE MUEH S22AN +48
250,0008 * 43 1,000
OSASEHIIS MelAla FIIZA 28 2,000
02 22| 15,800 15,000 800
OSAESRHIIE M2 =]
900 * 2CH * 404 * 150 10,800
OSAZRHIIE MelAa Xl |Xzel 5,000
202 01t 500 500 0
01 =01 500 500 0
OsAgzHIIE s =X 500
206 TH2HI 21,720 21,720 0
01 MEH 21,720 21,720 0
OSAESRHIIE HMelAE HE7L 21,720
S 500,0008 * 122 6,000
gkt 29,0008 * 430 12,470
oDty 6,5002 * 50004 3,250
401 Al HIL 2RI 50,000 20,000 30,000




D EEESH
S HIIEA
D HYIZE MelAld 22

S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
01 Al&H| 50,000 20,000 30,000
OSASFHIIS MelAE =44l Zd| 50,000
MY Dl HEAIE &EXIALS 600,000 90,000 510,000
= 300,000
L= 60,000
Al 240,000
403 X SHMSAH=01H 600,000 0 600,000
= 300,000
= 60,000
Al 240,000
02 S|S0l CHSHCH &M At S HI 600,000 0 600,000
OMYIJINEAE EXI(EF)A 600,000
2 300,000
= 60,000
Al 240,000
L2AE 23 468,000 0 468,000
201 Let2d| 24,000 0 24,000
02 ==l 24,000 0 24,000
Oz332= & HAl 24,000
oA MIIR= 5,000,000 = 4& 20,000
oAa2tAld A5t=ER2= 1,000,000& * 4& 4,000
307 212t01& 436,000 0 436,000
05 2IRIRAES 436,000 0 436,000
OaZA 4 fE22H| 218,000,000& = 2& 436,000
405 AHeHESHI 8,000 0 8,000
01 XL SSFSHI 8,000 0 8,000
O AE AR EIIF F#¥ 8,000
HY2IZH (BFEES ) 3,078,956 2,930,905 148,051
elEz 2| 3,036,276 2,888,225 148,051
el A 3,036,276 2,888,225 148,051
101 el H] 3,036,276 2,888,225 148,051
03 RIAHAZZHE = 3,036,276 2,888,225 148,051
Oost3aiizd o2y 2,262,835
=Jlzg 767,243
-6~104 0] 8t 1,081,620& * 17 = 128 220,651
-11~15& 0/ et 1,153,390& * 209 * 12& 276,814
-16~204 0| 8¢ 1,239,230 » 4% » 128 59,484
-21~254 0| gt 1,321,790& » 9% »12& 142,754
-26~304 0| ¢ 1,407,070& » 4% » 123 67,540
&3 512,565
-2 189,436




S3ES 0
BEEH A (S22
el 2|
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o8
- 6~10= 0] et 825,810& * 178 = 43| 56,156
- 11~15E018  861,6902 * 20¥ * 43 68,936
- 16~20 0| et 904,620& * 4H * 43| 14,474
- 21~25 0| BF 945,803 = 9% * 43| 34,053
- 26~30 0| 2F 988,540 * 4% * 43| 15,817
-3 86,336
- 6~10= 0] et 579,250& * 1798 = 23l 19,695
- 11~15E018F  861,6902 * 20¥ * 23] 34,468
- 16~20 0| et 904,620& * 4H = 23| 7,237
- 21~25 0| BF 945,890& = 9% * 23| 17,027
- 26~30 0| BF 988,540 * 4% * 23| 7,909
-HE et 236,793
- 6~10= 0] et 825,810& * 17 = 53| 70,194
- 11~15E0|8  861,6902 * 20¥ 53] 86, 169
-+ 16~20 0| B¢ 904,620& = 4% * 53| 18,093
- 21~25 0| 8F 945,890 * 9% * 53| 42,566
- 26~30 0| 2F 988,540 * 4% * 53| 19,771
oSSR rY 90,000& * 5494 * 12& 58,320
oXMATATYH 70,0003 * 549% * 12& 45,360
oIt EE 46,656
—bi < Xt 40,000& » 54H = 128 25,920
-JIEJHE 20,000& * 549 = 1.6 ~ 128 20,736
SPNIEREEa=y 19,341
-=stn 51,9903 * 54 * 0.22 » 43| 2,471
-nNSstn 433,880 * 54 * 0.18 » 43 16,870
=2 M| 379,342
- Mg A 160,000& = 54H = 123 103,680
-JtAI2 &I 110,000& » 54H = 123 71,280
-wES2 2| 140,0008 * 54% » 12& 90,720
-2 &S0l 113,662
- 6~10= 0]t 990,970& * 1798 = 23l 33,693
- 11~15 0| 8+
1,034,030& » 209 * 23| 41,362
- 16~20E 018 1,085,540% * 4% » 23] 8,685
- 21~25E0|8  1,135,070& * 9% « 23] 20,432
- 26~30E 018 1,186,240 * 4H * 23] 9,490
oxNI2RSH 291,763
“ANZERI2RE 130,812
6~10= 0J
10,9703 * 17¥ * 208Al2¢ 38,790
- 11~154 0/ gt
11,4403 = 20 = 208Al2t 47,591




SN B#ASSD
HE: #H2YAY (FFBSD)
el ol 2|
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 i
- 16~201 01 8t
12,0109 * 4% * 208AI2t 9,993
 21~25\4 0/ 8t
12,5609 * 9% * 208AI2t 23,513
. 26~3012 0/ 8t
13,1302 * 4% * 208AI2t 10,925
-guaRsy 160,951
6~100/8F 87,696 * 17Y * 32AI2 47,707
11~151 0] 2
91,5072 * 202 * 32AI2¢ 58,565
£ 16~2014010F 96,0658 * 42 * 32AI2t 12,297
- 21~2514 0/ 8t
10,4902 * 9%  32AI2t 28,944
. 26~3014 0/ 8t
104,978 * 4% * 32AI 2t 13,433
coNRIENSY 71,473
~6~10110/ 0 58,4702 * 179 * 18 17,892
~11~15L 0l 2t 61,0002 * 208§ * 21 25,620
~16~204 0| ¢ 64,0502 * 4% + 232 5,893
~21~251 0| 2 66,9702 * 9F + 252 15,069
~26~3011 0| 2F 69,9902 * 4% + 252 6,999
SHIMAHI 1,769,281,0002! * 4/100 70,772
OMUTt 4g 10,0008 * 38§ * 122 3,600
O A 1,800 * 543 * 252 « 128 29,160
lENEE! 102,394
SANBNSEHS  2,275,410,0008 * 4.5/100 102,394
ong=as 2,275,410,00020 * 1.5/100 34,132
OUTHEEE 2,275,410,00020 * 3.6/100 81,915
oRYBEE 2,275,410,00020 * 2.54/100 57,79
OLQFIIQULEHE 3,002 * 543 » 128 1,944
003 EX3 89,800,000 * 5 449,000
005 T=Y| 3,500
oxtols 50,0002 * 548 * 5% 3,500
|22l 42,680 42,680 0
p[CE-TE 42,680 42,680 0
201 Yer2 YY) 33,240 33,240 0
01 A2l 32,400 32,400 0
O=N2Y JI2ZH 6,000
SEEPIE 300,002 * 122 3,600
cEAN & 200,009 * 122 2,400
ONREE PY(ZAMA S) 3,600
o2\ 200,000% * 122 2,400
SN 10,0008 * 122 1,200




A SIESH
N HY2ITH(BIESH)
chel: Jl2&dl =L
- _ _ pSNE N
A3 - 22A(ZAH) - MBAY - BE=S &HeR '@}QB‘E &
O HARII 228 72¢ 8,100
== 300,000& = 7CH = 33l 6,300
cEdAE 300,000& * 2CH * 33 1,800
OF=3=i[ 14,700
osdlE 7,000& * 18 » 7 « 123 10,584
oA L 7,000 * 78 « 72 x 128 4,116
02 E5=2&H 840 840 0
OoR#ERs 840
202 O4Hl 5,120 5,120 0
01 2LHOIY 5,120 5,120 0
OHl&42F 2ol 5,120
203 ¥R =4l 4,320 4,320 0
04 EA2SERFaH] 4,320 4,320 0
OFME2EER=4Y 360,000& = 123 4,320
Heas(Ed32sn) 11,200 0 11,200
WEHHXI = 11,200 0 11,200
WERHcHX = 11,200 0 11,200
702 JISdHES 11,200 0 11,200
01 JISdES 11,200 0 11,200
OQHIISXcANE =HISANS LU=
11,200,000& = 14! 11,200




